

$$KL[q||p] = \int q \log \frac{q}{p} d\theta$$

$$p = \frac{1}{Z} \exp(f(\theta))$$

$$= \int q \left[\log q - \log \frac{1}{Z} \exp(f(\theta)) \right] d\theta.$$

$$KL[p||q] = \int \frac{1}{Z} \exp(f(\theta)) \log \frac{\frac{1}{Z} \exp(f(\theta))}{q} d\theta$$

$$p = \{ \theta_1, \dots, \theta_n \} \prod_{i=1}^n \delta(\theta - \theta_i)$$

$$KL[q(\omega) \parallel p(\omega)] = \int q(\omega) \log \frac{q(\omega)}{p(\omega)} d\omega =$$

min

$$= \langle \log q(\omega) \rangle_q - \langle \log p(\omega) \rangle_q$$

$$\langle -\log \mathcal{Z} + \log \mathcal{N}(\omega | \mu, \Sigma) + \sum_{n=1}^N \log \phi_n(\omega) \rangle_q$$

$$= \langle \log q(\omega) \rangle_q - \langle \log \mathcal{N}(\omega | \mu, \Sigma) \rangle_q - \sum_{n=1}^N \langle \log \phi_n(\omega) \rangle_q + \log \mathcal{Z}$$

KL ≥ 0

$$\Rightarrow \underbrace{\log \mathcal{Z}}_{\substack{\text{entropy of } q \\ \frac{1}{2} \log |2\pi e \Sigma|}} \geq \underbrace{- \langle \log q(\omega) \rangle_q + \langle \log \mathcal{N}(\omega | \mu, \Sigma) \rangle_q}_{\substack{\text{quadratic form} \\ \text{over } \mu \text{ and } \Sigma}} + \underbrace{\sum_{n=1}^N \langle \log \phi_n(\omega) \rangle_q}_{\substack{\langle \phi \rangle_q, \omega \in \mathbb{R}^D}}$$

$$1. q(\omega) = \mathcal{N}(\omega | \mu, S)$$

$$\omega^\top h_n \Rightarrow \mathcal{N}(\omega^\top h_n | \cdot, \cdot)$$

$$E_\omega \omega^\top h_n = \mu^\top h_n; \quad E_\omega (\omega^\top h_n)^2 = E_\omega \overbrace{\omega^\top h_n}^{h_n^\top \omega} \omega^\top h_n =$$

$$= E_\omega \underbrace{h_n^\top \omega \omega^\top h_n}_{h_n^\top S h_n} = h_n^\top S h_n + (h_n^\top \mu)^2$$

$$E_\omega \omega \omega^\top = S + \mu \mu^\top$$

$$\mathbb{V}(\omega^\top h_n) = h_n^\top S h_n.$$

$$2. \langle \log \phi(\omega^\top h) \rangle_{\mathbb{R}^D} = \langle \log \phi(y) \rangle_{\mathcal{N}(y | h^\top \mu, h^\top S h)}$$

\mathbb{R}^D

$$\{y = \omega^\top h\}$$

$$= \langle \log \phi(h^\top \mu + z \cdot (h^\top S h)^{\frac{1}{2}}) \rangle_{\mathcal{N}(z | 0, 1)} \quad \mathbb{R}$$

$$\langle \log \mathcal{N}(w | \mu, \Sigma) \rangle_{q(w)} =$$

$$q = \mathcal{N}(w | m, S)$$

$$w w^T$$

$$w^T \mu$$

$$= \langle \log |2\pi\Sigma|^{-\frac{1}{2}} - \frac{1}{2} (w - \mu)^T \Sigma^{-1} (w - \mu) \rangle_q =$$

$$= -\frac{1}{2} \log |2\pi\Sigma| - \frac{1}{2} \langle \text{tr} (w - \mu)^T \Sigma^{-1} (w - \mu) \rangle_q =$$

$$= -\frac{1}{2} \langle \text{tr} \{ \Sigma^{-1} (w w^T + \mu \mu^T - 2w \mu^T) \} \rangle_q =$$

$$= -\frac{1}{2} \text{tr} \{ \Sigma^{-1} (S + m m^T + \mu \mu^T - 2m \mu^T) \}$$

$$= -\frac{1}{2} \log |2\pi\Sigma| + \frac{1}{2} \text{tr} \{ \Sigma^{-1} S \} + \frac{1}{2} \mu^T \Sigma^{-1} \mu - m^T \Sigma^{-1} \mu$$